Grupa

IMI€ 1 NAZWISKO ...

Zadanie n

Rozwiaz réwnanie.

Q) 8(x—1)+32—-2)=5R2zx+1)+3

b) 0,52 — 0,2 (b — 15)= 0,3 (10z — 20)+ 9,7
c) 3(8x — 5)=4(—7 + 6x)

d) 5(—6x + 2)+ 14 = 8(3 — 4x)+ 2z

Zadanie a

Rozwiaz rownanie.

z—9 z—3 5 z+3

_ by 2z
9 —3 6 ) 5% 12

Zadanie a

Dane jest rownanie: z° + (z — 2)(z + 3)= 2 (2> — 5z +8) .
Ktora z trzech liczb: —2, 0, 2, spelnia to r6wnanie?

A. -2 B. 0 C. 2

Rozwiaz réwnanie.

Liczba punktéw .......... /1

(..../4pkt)

(..../ 2 pkt)

(..../2pkt)

D. zadna z tych

(..../3pkt)

a) 72> — (5 + 2)(5 + Tz)= 0 b) (z — 3)8z + 1)— Tz = (2z — 5)(dz + 2)
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Grupa B Liczba punktéw .......... /1

IMI€ 1 NAZWISKO ...

Zadanie n (..../4pkt)

Rozwiaz réwnanie.

a) b(x+2)+4(x—3)=2(6 —2x)— 27

b) 0,52 — 0,4 (25 — 152)= 0,7 (20 — 10)+ 1,5
c) 4(6z + 8)=8(—2 + 3x)

d 2(—7z+3)+14 =54 —3z)+ =z

Zadanie a (..../2pkt)

Rozwiaz rownanie.

z—8 z—1 3 T+ 2 1
) 5 ) 1* g 2
Zadanie a (..../2pkt)
Dane jest réwnanie: z° + (z — 3)(z + 2)= 2 (2° + 4z + 15) .
Ktora z trzech liczb: —4, 0, 4, spelnia to r6wnanie?
A. -4 B. 0 C. 4 D. zadna z tych
liczb
Zadanie [} (... /3 pkt)
Rozwiaz réwnanie.
a) 5% — B+ x)6 +5x)=0 b) (x — 4)(15x + 3)+ 51z = (5z + 4)(3z — 2)
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